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SM316 — Quiz #02 (Section 2.6,3.1-3.3) — Due Tuesday
Take home quiz, open book, open notes. You may work with team members to solve problems, but
you may not copy another’s work. Calculators are allowed, but you must show all work for full credit.

1. The probability that the head of house is home when a telemarketing representative calls is 0.4.

Given that the head of the house is home, the probability that goods are purchased is 0.3. Find
the probability that the head of household is home and goods are purchased.
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2. A coinis flipped until 3 heads in succession occur. List only those elements of the sample
space that require 6 or less tosses. Is this a discrete sample space? Explain.
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3. Let Wbe a random variable giving the number of heads minus the number of tails in three coin
tosses. List the elements of the sample space S for the three tosses and assign a value (heads-
tails) to each element. What is probability distribution of the random variable # if the coin is

biased so that heads occur twice is often as tails?
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